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( Old Course )

Full Marks : 80
Pass Marks : 32

" Time: 3 hours

. o Rew o/ ofed R ww Tewh A
e : 1x8=8

Find out the correct answer from the
following alternatives in each question :

(a) F SoRIRPTR (8T WO (X

Categorical variables are measured i m
(i) & HI4I5¢ /nominal scale only
(f) &4 &FWaHF /ordinal scale only

(i) TS T FH Ty
both nominal and ordinal scales

(iv) - (¥4 SEIEPPF/interval. scale only
(b) RS oS R TP

In nominal scale, values of the variable
are ' |

(i) SRAEC FW/quantitative

(i) *FU ;W/zero

(i) *FIRRY W/mutually exclusive
(iv) @R TOFI/AL of the above
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@M I5T I
For a leptokurtic distribution

) B2>3
(i) Ba <3
(iii) Pg =3
() PB2=0

fom woEE BT r=+1 =0, (ST AARA

SN

When the correlation coefficient rbecomes
+1, then the two regression lines

que] AWOPT 8T® qI ™
become perpendicular to each other

ufew &

coincide

(i
()

GO SFCEY TS IR A
become parallel to each other
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do not exist
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4x4=16
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(B) =2340,

Given  that
(QB) = 260: (QB) =2
requencieg and th

)

=150, (4) =230, (B) =260
S T TRIRSPRR W N

(AB) = 150,

(AB) =23%
€ value of N.
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(c) orm T : 2+342=7

Explain :
(i) S T GE FLIEPE BRI
Nominal scale and ratio scale

i) o s T 2T

Statistical population and sample

An . 7)‘2 o
SWer any two quest; (i) R o T SRR =
ons and continuous data
fa) Rfsg [_R Discrete data
N Sy o R S s 9 EVAL
TR SIS LI st 1 - 9x2=18
at are T fery 5+3H]% R @ g o o
- datap DiSﬁn;ud;ggrent types of statisticd | Answer any fwo quEstionS
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Ources of secong Mention som¢ @ @ R ST T W AR ARSI
) b vy data. ?T‘W:@ A 2%:+2%=5
C50) & JFOLF
‘“““‘Iﬂr%f;? ! TR kil o that for any frequency
WK’I&@ W Wﬁ | tsququ W’ﬂﬁ@[‘ﬂﬁ S'hO“" tion kurtosis is greater
T N ) distributio™ fficient of
IR fog TS Sorgroy oy | 5 than unity and the coenc
'ghe follo gd - <kewness is less than unity.
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t of variation is 40 and
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7x2=14

Answer any two questions :

(a)

(b)

mwmwwwwﬁ*ﬁﬂﬁmmw
ST @S r e | W X S Y e
5% T; a, b, G dR @ERMB I a#0,

c#0 T, (TR (ST A

r(@X+b, ¥ +d)=—-r(X,Y) " 3+4=7
" acl

Show that the coefficient of correl?.tion r

is independent of change of origin and

scale of the variables. If X and Y are

random variables, and @ b, & d are
numbers provided only that a#0, c#20,

then show that

ac ;X Y)

rx +b, ¥ +d) =10

e R &,
6x+y-31=0 famn SICR |

lines with equations
0 and 6x+y-31=0-
ssion lines of y 0B x
values and the
nxand ¥ -

Two regression

are 3x+2y-26~
Determine the €8¢
and x on y. Find mean
correlation coeﬁicient betwee

( Turn over)



(c)

6. (a)

'A(ii) (A) =490
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Prove th o
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4B) = 300 (4) = 470, (B) = 620,

er(laB)=380 AB1=204, (0)=570
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=100 o -
(AB)= oy =47 A
y “B=50 0 (®=620 A
s, o -

=380 =294
s (Q.) =570,
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(b) @ Foge Fea & 2 W

frar 1 7 A S B @9 1 FO0 T, (R

reT @ o o pe T I 2+3+5710
independence
condiﬁons for
tes. If two
independent;
independent

What do you mean by
.of attributes? Write the
independence of attribi
attributes A and B are
show that o, f will also be

to each other.
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